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By a Ma’amar against her will, and according to Rebi

Overview

The X3 established that which was stated that a 77X» by a 771 can be either ny»
TMXY or AR NV, is discussing a Rn, which was done against her will.? maoIn
explains why this is not contradicted by saying it is 72X DY ANYTA.

nvoINn asks:
- AN NI KIN VAN N2 PYIY PR NIVP YIND INM 19 OX ININN ON)

And if you will say; if this is so (that the 77R8n is being done 2"v1), why does it say,

‘by a 1P we do not make a 9»R» by her unless it is with her father’s consent -
- AN NYT R NNYT XY 1P XY XD 9299 ON) 7%aN DY) ANV N¥IN)

And by a ;79w1 the 71Rn is performed either with her consent or with her father’s
consent’; but if we are following the view of 27 that the 77%X» is being done 3"v2,
we do not need neither her consent not her father’s consent!

N150IN answers:
:IIN99 YYA MIVAPS 79 ANNY NPANY IN 1Y 3NNY 7598 YINRD 9977 99 U

And one can say; that this is what ny72 means, it is necessary for the 02’ to
inform her or her father that he intends to make a "nX»n, and afterwards he can
be w7pn her 5"ya.

Summary
According to "2 the term n¥7» means knowledge, not consent.

Thinking it over
"2 derives from 7X°2 that the 77R8n can be 3"v32, just like X2, However, by 7X°2 he
is P the M2 even it is ANy X5W; why by ar» does it need to be nyTa?*

!0 (saying) is the (112772) PWITP which is performed by the 02’ to his n2 before the (Rn™MR77) AR

2 This is therefore reconciled with the view of > that whenever it is 2"v3, either the 771 and her father can do it.

3 The words 'inyT2' or 'max nyT»', do not mean with their consent, but rather with their knowledge. One of them needs
to be aware that the 02’ is being w7pn her with a "nR», but he does not need their consent. See 1w W "7 X,7 'O
where there is a similar concept regarding 713°.

4 See TN won W # 74.
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